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NAME …………………………………..ADMISSION  NUMBER ……………… CLASS………….. 
FORM 2 
MATHEMATICS 
Time: 1HOUR 45MINS 

SECTION I: 
Answer all questions in this section (40 marks) 

1. Simplify

3
12

25
3

12
5

6
53

3
14

6
5

÷×







 −of

without using a calculator.  (3marks) 

2. Evaluate: ( )
91296
24128

212
2844 2

×−÷
−−×

−
−×
−− (3marks) 

3. Reduce the following expression into a single fraction.

6
12

2
54 −
−

− xx (3 marks) 
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4. Simplify:
22

3
2

3
4

9128
27512

−

−

×
×          (3 marks) 

 
 
 
 
 
 
 
 
 
5. The size of an interior angle of a regular polygon is 3x0 while exterior is (x – 20)0.  Find the number of 
sides of the polygon.          (3marks) 

 

 

 

 

 

6. All prime numbers less than ten are arranged in ascending order to form a number. 

a) Write down the number formed.       (1 mark) 

 

b) Express the number in (a) above in expanded form.     (1mark) 

 

 

 

7. Use the tables of reciprocals and square roots to evaluate.  

 
498.0

0351.0
1.0

+
  

      (4 marks) 
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8.    The G.C.D. and L.C.M. of three numbers are 3 and 1008 respectively. If two of the numbers are 48       

        and 72, find the least possible value of the third number.    (3marks) 

 

 

 

 

 

 
9. The ratio of Mueni’s earning to Kilonzo’s earning is 5:3.  If Mueni’s earning is increased by 17% her  
    new figure becomes Kshs. 18,000.  Find the corresponding percentage change in Kilonzi’s earnings if  
     the sum of their new earnings is Kshs. 24,600.      (3 marks) 
 

 

 

 

 

 

 

10. A straight line through the points A (2, 1) and B (4, m) is perpendicular to the line whose equation is  

      3y = 5-2x. Determine the value of m.        (3marks) 
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11.  Use logarithms to evaluate, correct to 4 decimal places. 4
0007.0786

62.245.3
×
+     

                     (4marks) 
 
 
 
 
 
 
 
 
 
 
12. The figure below shows a net of a solid which is not drawn to scale. 

 
 
 
 
 
 
 
 
  
 
 
 
Sketch the solid ABCDEF with ABCD as the base.     (2 marks) 
 
 
 
 
 

13.A number n is such that when divided by 3, 7, 11 or 13, the remainder is always one.  

Find the number n.          (3marks) 
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SECTION II: (30 MARKS) 

Answer any 3 questions in this section  

 

14.A line T, which passes through the points (-3, -5) and (3, -6) and is perpendicular to a line L at the 
point (-2, -2). 

a) Find the equation of L.        (3 marks) 

 

 

 

 

b) Find the equation of line T in the form ax + by = c where a, b and c are constants. (2 marks) 

 

c) Given that another line Q is parallel to T and passes through (1, -3) find x and y intercepts of Q. 
            (2 marks) 
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d) Find the points of intersection of L and Q.      (3 marks) 

 

 

 

 

 

15. Three warships A, B and C are at sea such that ship B is 500km on a bearing N30E from ship A.  

Ship C is 700km from ship B on a bearing of 120o.An enemy ship D is sighted 800km due south of 
ship B. 

a) Taking a scale of 1cm to represent 100km, locate the positions of ships A, B, C and D. (4 marks) 

 

 

 

 

 

 

b) Find the bearing of: 

i) Ship A from D.          (1 mark) 

 

ii) Ship D from C.          (1 mark) 

 

c) Use scale drawing to determine the distance between 

i) D and A.           (1 mark) 

 

ii) C and D.           (1 mark) 
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d) Measure angle DAC and angle BCD                   (2 marks) 

 

 

 

16. A surveyor recorded the measurements of a field in a field book as shown below. Using line         
AB= 260m as the baseline: 

 B  
 170  
E50 140  
 110 C60 
F80 100  
 30 B50 
 A  

 

a)  Draw the map of the field.        (4marks) 

 

 

 

 

 

 

 

b) Find the area of the field in hectares.       (6marks) 

 

 

 

 

 

for
 m

ore
 fre

e e
xa

m pa
pe

rs 
vis

it: 
www.fre

ek
cs

ep
as

tpa
pe

rs.
co

m



Page 8 of 8 
 

 

 

17.a) Atyang bought 3 blouses and 2 skirts for a total of Ksh.500. Awino bought 4 blouses and 5 skirts 
for a total of Ksh.900. Find the cost of 1 blouse and 3 skirts.   (6marks) 

 

 

 

 

 

 

 

c) A two digit number is such that the difference between the ones digit and the tens digit is 2. If the 
two digits are interchanged, the sum of the new and the original number is 132. Find the original 
number.           (4 marks) 
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